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The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : - 1x10=10
wore fAERS ForERt Tes o

fa) Mention a measure of development to
study international variation.

THTE S8eAgE AfRNTET o[ A 9T A4
951 355 Tea 41|
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(b)

()

(@
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(2)

According to the UNDP Report, 2020,
India’s rank in HDI is

UNDPY {0309 AfSanas, A@d ™o S
5% (HDI)I SIferere SRedd TH 2«

(i) 129
3B

(i) 130
Svo

(i) 131
593

(iv) None of the above
89RT GO1S =T

( Choose the correct answer )

(o TEI0H! AR Sfereqy )

What is endogeneous growth model?

oAl Rt =fE & 2

Why is the Harrod-Domar model called
a neutral theory of economic growth?

S-TARA WD R SRR Rerw
fReers ©g 31 e = ?

( Continued )

(e)

1]

(9)

)

(i)

1}

(3)

What is poverty line?
wRTeR eI & 2

Is long-run growth possible in Solow
model? °

©'e WIS Tl [REr T8 2

What is steady state in Solow model?

5o S fafie s 2

What is inequality?

=pel 2

What is the main function of a political
institution?

<51 JECATST PR 4 <1 R 2

What do you mean by democracy?

s1Teg I R @ e

2. Answer the following questions : 2x5=10
ST PR Bed ford
(a) Write two limitations of GDP as a

22A/269

measure of economic development.

SARSE T T R P I B
w1 SiREel Teas 74 |
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(4) : (S)

(bp) What is Gini coefficient? {c) Explain briefly the inequality axioms.
faifey >f=ot 5 2 SPTOR FPRER S & |
(c) Write two characteristics of the poor. (d) Distinguish between absolute poverty
= 1@_‘ O S and relative poverty.
pors TRl W SRR wRueNd  We|
(d) Distinguish between growth and w1 o |
development.
Sropt S S {12 T | () How do poverty and inequality affect
development?
(e) What is poverty trap? TGS S ST A FCT 2SR ¢ 2
wRgeR 1 2 ; ()l Explain briefly the role of government to
eradicate corruption.
3. Answer any four of the following questions : 'ia S fAIMeTe 53F[ v T30 B?{Z‘qf (1 41 |
5x4=20
word PP R e BifReI T forst -
4. Answer the following questions : 10x4=40
(a) Write briefly the measures of
development. woTd SEPIRA ©ed o
THIA PTYR TP A4 | (a) Discuss the international variation
among different measures of develop-
(b) What is the basis of Solow’s growth ment.
model? TS RIMMEES IR HRBAB gren M
5o Rra nfRe fefe & 2 T
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(b)

(c)

22A/269

(6)

Or / 9251

Explain  briefly the development
trajectories across developing nations
and make a comparison between them.

Tl AR AR SfSURR e
TG BT ST |

Explain briefly the Harrod-Domar model
of growth.

ES-T'N{A [ SR 5503 =01 <941 |
Or / 5l

Explain briefly the growth process of a
developing economy.

el YIS RerT 2ifesn oL I 3/ |

Explain the relationship between
inequality and development.

o] S CHEAR A1 ST A 47
Or / 91

“Rich are getting richer and poor are
getting poorer.” Discuss the statement.

“yTpreel 4R SF (IMCIR G €2 ¢ ey |
SO T 41

( Continued )

(d) Discuss briefly the determinants of
democracy.
SIToFd SAMIAPTIR HLE 0 <1 |

Or / 5341
Discuss the differences in the
functioning of State institutions within-
a country.
g3 PR Rl SPFERY IREEN
NIRRT F41
* & A
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